EMITEREGER) 12814 i . _ _ _
EFZ (EE] *TEAEF HE TREE ITH Ba BT 2847 3247 424 BHH TR X8 #2% BT Bk ww =ik BE vese K% E O ORTE HEE ESE ssws
FREH 8H128 FMEHRK—CX HEAKR1EE 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0.000 0.000 0.000 #DIV/0|
FREH 8H19A BMEmER—X HAAR2[EE 5 4 1 1 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0.250 0.250 0.250 @ 0.200 #DIV/0|
FREH 108148 BEFHF7RER—X JLRE 1 [EE 4 4 1 1 0 1 0 4 0 0 1 0 0 0 0 1 0 10500 1.000 0.500 1.000 0%
FREH 108208 FHERI—FR—(X JLRA s 2 m 4 3 2 0 0 0 0 0 1 1 0 1 0 0 0 0 0 0 0.000 0000 0.000 0.250 100%
FREH 10A208 E#R—(X JLR s 3 E 4 2 1 0 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0.000 0000 0.333 0.250 #DIV/0
FREH 108218 /MuR—4X L RA TR HE R A% 4 4 2 1 0 0 0 1 0 1 0 0 0 0 1 0 0 1. 0250 0250 0.250 0500 100%
FREH 1A A FRBERR—(X L EFE1EE 4 2 0 0 0 1 0 3 0 0 0 0 0 2 0 3 0 0 0500 1500 0.750 @ 1.250 #DIV/0
FREH 118178 WER—aX L EFE2EE 4 3 2 2 0 0 0 2 0 2 1 0 0 1 1 0 0 0 0.667 0667 0.750  1.250 67%
FREH 118188 #EAER—CX LEFEERE 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0.000 0000 0.000 0.000 #DIV/0|
FREH 3A308 EHUNLL=T ARAH 1 EE; 4 4 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0.250 0.250 0.250 @ 0.250 #DIV/0|

| SEiREH &5 41 3 9 6 0 2 0 12 1 4 2 3 0 4 2 5 0 2 023 0.316
EF4H EH HEAEF HE NRR T8 (5m B3] 2811 3R] ASH BRI 4 AR 257 BI] Bk R —jr e nwnE Sk JIE  ENE HBE ESE s
SHEA 8128 FMEFRK—CX HEAKR1EE 4 3 0 1 0 0 0 1 1 0 0 1 0 0 0 1 0 0 0.333 0.333 0.333  0.250 #DIV/0]
SHEA 8A198 MEBER—X HAAR2EE 4 3 0 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0333 0333 0.333 0.250 #DIV/0
SHEA 108148 BEFyRAR—0X JEBSE 1 [mE 4 1 2 0 0 0 0 0 0 2 0 1 0 2 0 0 0 1 0.000 0000 0.667 1.000 100%
SHEAN 10A208 FHMERZ—FK—0X JLRA s 2 m 4 3 1 0 0 0 0 0 0 0 0 0 0 1 1 0 0 1/ 0.000 0000 0.250 0.250 #DIV/0!
SHEA 108208 EiEHR—1X Jt B9 EE3m e 4 1 2 0 0 0 0 0 0 0 0 1 0 2 0 0 0 0, 0.000 0.000 0.667 0.500 #DIV/0!
SHEA 108218 /MUR—X EdEE T3 4 4 1 1 0 0 0 1 0 0 0 0 0 0 1 0 0 0 0.250 0.250 0.250 0.250 #DIV/0!
SHEA 11A118 BFPBEEER—CX LETR1EE 4 2 0 0 0 0 0 0 0 0 0 0 0 2 0 1 0 0, 0.000 0.000 0500 0.500 #DIV/0!
SHEA 118178 WER—1X LEFR2EE 4 3 2 1 0 0 0 1 1 2 0 0 0 1 0 0 0 0, 0333 0333 0500 1.000 100%
SHEA 11A18H BERER—X SEFRERB 4 4 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0, 0.000 0.00 0.000 0.000 #DIV/0!
SHEA 3A30H #HEHUVMLL =T ARAH 21 EE 4 2 0 1 0 0 0 1 1 0 1 0 0 2 0 2 0 0, 0500 0500 0.750 0.750 0%

SHEA B 40 26 8 5 0 0 0 5 3 4 1 4 0 10 3 6 0 2 0192 0.417
EF4H EH WEAEF HE TRR T8 (5 ET] 2811 3R] ASH BRI 4 AR %57 BI] Bk ER —jr e nwne Sk JIE  ENE HBE ESE ssos
¥ O & 10148 BEFyRA—CX JEBIEE 1 [mE 4 3 0 2 0 0 0 2 1 0 0 1 0 0 1 0 0 1 0.667 0667 0.667 0.500  #DIv/0|
& O & 108208 FHERF—KR—(X JtB9EE 2 m e 4 4 0 1 0 0 0 1 3 0 0 0 0 0 1 2 0 10250 0250 0.250  0.250 #DIV/0|
& O & 108208 EiEHR—4X JtBSEE3m e 4 4 0 1 0 0 0 1 2 0 0 0 0 0 0 1 0 0 0.250 0250 0.250 0.250 #DIV/0!
& O & 108218 /MUR—aX JLBI BT A SRR 3 3 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0, 0.333 0333 0333 0.333 #DIV/0!
Y& O &) 11A11A FRBEER—X £EFE 1 [ 4 2 0 0 0 0 0 0 0 0 0 1 0 1 1 1 0 1, 0.000 0.000 0.333 0.250 #DIV/0!
¥ O & 118178 WER—1X SEFR2EE 3 3 0 1 0 0 0 1 0 1 0 0 0 0 1 0 0 0, 0333 0333 0333  0.667 100%
& O & 11A18H BERER—(X SEFRERB 4 3 0 0 0 0 0 0 0 0 1 0 0 1 1 0 0 0, 0.000 0000 0250 0.250 0%
¥ O & 3A30H KBV =T ARAH 21 EE 3 3 1 0 0 1 0 3 1 0 0 0 0 0 1 0 0 0 0.333 1.000 0.333 1.000 #DIV/0!
EOES &5 29 25 1 6 0 1 0 9 7 1 1 2 0 2 6 4 0 3 0.280 0.333
EFH EH REAEF HE TRR T8 5m EF] 2811 3R] ASH BRI 4 AR 257 BI] Bk ER —jr BE nwnE Sk JIE  ENE HBE ESE s
Bk 8A12H AP RAR—X HEA1EE 4 2 0 0 o0 o0 ©0 o0 0 0 O ©0O o0 2 0o 2 o0 1 0.000 0000 0.500 0.500 #DIv/0|
Ak 8A19H BEAEAR—X HEA2M@E 4 2 1 1 0 0 o0 1 0 0 1 0 0 2 o0 1 0 0 0500 0500 0750 0.750 0%
Ak 10148 BEFyREAR—C4X JtBI 5 1 [EE 4 3 1 0 0 0 O O0 O0 0 0 0 00 1 00 0 0 0 0000 0000 0250 0.250 #DIv/0|
Ak 108208 FHERF—KR—(X It BI 2 [E 4 4 0 2 0 0O 0O 2 0 0O O 0O 0O O O 2 0 0 0500 0500 0500 0.500 #Iv/0
Ak 108208 EiEHR—1X It BIEE3mE 4 4 0 1 0 0 o0 1 2 0 0 0 0 0 0O 1 0 0 0250 0250 0.250 0.250 #DIv/0!
Ak 108218 /Mur—4X A EE T 3 3 0 2 0 o0 O0 2 3 0 0 0 0 0 o0 1 0 2 0667 0667 0.667 0.667 #DIvV/0!
Ak 11A118 BFEBEER—X 2ETR1EE 4 2 2 0 0 0O 0 0 0 0 O 1 0 1 00 0 0 0 0000 0000 0333 0.250 #Iv/0|
Ak 118178 WER—1X LEFR2EE 3 2 0 0 0 O 0O 0O O O 0 0 O 1 0 1 0 0 0000 0000 0.333 0.333 #DIV/0!
Ak 11A18H BEBER—(X SEFRERB 3 3 0 0O 0O O O O O O O 0O O O O O 0 0 0000 0000 0.000 0.000 #Iv/0
Ak 38308 EBUMLLZT ARAH 21 EE 3 3 0 0 O O 0O ©O0O O O 0 0O O o0 O 1 0 1 0.000 0000 0.000 0.000 #DIv/0|

| CEkEEtH SF 3628 4 6 0 0 0 6 5 0 1 1.0 7 0 9 0 4 0214 0.371
EF4 EH WEAEF HE TR T8 o B 251 0B ARN BB I A A ok B Bk DRk — Ik Be nene L5 JIE ENE HBE ERR svor
R 8128 FMEHRHK—CX HEAKR1EE 4 4 1 1 0 0 0 1 0 0 0 0 0 0 0 1 0 1 0250 0250 0.250  0.250 #DIV/0!




A 2 11 8H19A BMEmEAR—X HAAR2[EE 4 2 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0.000 0.000 0.000 0.000 #DIV/0|
A = 11 BEF,RER—(X JEBSEE 1 [mE 4 4 1 0 0 1 0 3 0 0 0 0 0 0 0 1 0 0 0250 0750 0.250 0.750 #DIV/0
[ A 2 11 FHERE—R—(X JtB9EE 2 m & 4 3 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0/ 0.000 0000 0.000 0.000 #DIV/0
[ A = 11 ER— X JtBSEE3m e 4 3 0 1 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0333 0333 0667 0.250 #DIV/0|
A 2 11 IMUR—A X LR B RS 3 2 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0.000 0000 0.000 0.000 #DIV/0
[ A = 41, FRIBERR—(X LEFE 1@ 4 4 0 1 0 0 0 1 0 0 0 0 0 0 1 1 0 0 0250 0250 0.250 0.250 #DIV/0
[ A = 11 WER—1X LEFE2EE 3 2 0 1 0 0 0 1 0 0 0 0 0 1 0 1 0 0 0500 0500 0.667 0.667 #DIV/0|
A = 11 BERBER—X LETEERE 3 3 0 1 0 0 0 1 0 0 0 0 0 0 0 2 0 0 0333 0333 0333 0.333 #DIV/0
A 2 11 EBVNLLZT ARG H R B8 3 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0000 0.000 0.000 #DIV/0
| EXah 85 363 2 5 0 1 0 8 0 0 0 4 0 1 1 6 1 1 0.200 0.250
EEXA BT Ha B T3 B EIT 251 oRH AR BB T 5 BB 2% BT BIR IR i BE % JIE EH=E MBE EBE s
JIER—X BEHRER—CX It BI 5 1 [EE 3 2 0 0 0 o0 0 o0 0o o0 0 0 o0 1 o 2 0, 0.000 0.000 0.333 0.333 #DIV/0!
JIER—X FHERL—HR—1X It BI 2 [E 2 2 1 1 0 0 o0 1 0 0 0 0 O ©0O 0O 0 0 0 0500 0500 0500 0500 #DIV/0!
JIER—X EER—a1X It BI T3 E 2 2 0 0 0O O O 0 0O 0O 0 O 0 O 1 00 0 0 0000 0000 0.000 0.000 #DIV/0|
JIER—X IUR— X EAEE TN 1 1 0 0 0 O0O o0 OO 0O o0 0 0 0 O 1 00 0 0 0000 0000 0.000 0.000 #DIV/0|
JIER—X FHBERR—(X LETR1EE 3 3 0 0 0O O O 0 O o0 O 0 0 O 1 00 0 0 0000 0000 0.000 0.000 #DIV/0!
JIER—X WER—0X LEFR2EE 3 1 0 0 0 o O0 O ©O0O 0O 0O 0O O0 2 o0 1 0 0 0000 0000 0.667 0.667 #DIv/0!
JIER—X BERER—X SEFRERB 3 2 0 0 0O O 0 0O 0 0 O 1 0 0 0 0 0 0 0000 0000 0000 0.000 #DIV/0!
Ngg—x St 17 13 1 0 0 o0 1 o0 0o o 1t o 3 3 0 0077 0.250
BEFH >R F HE B ITH B 25T 3B1 AEH BB T4 AE Z2k B BR B R 2% HBE ELXR aww
TtEt AR RAR—(X HEA1EE 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 #DIV/0! #DIv/0i 1,000 | 1.000 | #DIV/0!
TtEt BEBEER—X HEA2@E 2 1 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0.000 0.000  0.500 0.500 #DIV/0
TtEt FHERE—R—(X JER9ER 2@ &, 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 #DIV/0! #DIv/0! #DIV/0! = 0.000  #DIV/0!
TtEt MUR—A X LR B #E RS 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0.000 0.000 0.000 #DIV/0
TtEt FRBERR—(X LEFE1EE 1 1 0 1 0 0 0 1 1 0 0 0 0 0 1 0 1,000 ' 1.000  1.000 1.000 #DIV/0
TEtEt WER—1X LEFE2@E 2 2 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0.500 0.500  0.500 0.500 #DIV/0
Ttat BERAER—X LETEERE 3 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0.000 0.000 0.000 #DIV/0
MRt EBVNLLZT AR R B8 3 2 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0.000 0.000  0.333 0.333 #DIV/0|
| HiHRt 85 15 11 3 2 0 0 0 2 1 00 1 0 1 2 0.182 0.357
EFZ *TEAEF HE B B BE B 221 3R] A2H BAM F A B A2n B R =ik B2 % $THE EHE MBE EEE sl
EWHER BB RAR—( X HEA1EE 4 4 1 1 0 1 0 4 0 0 0 o0 0 00 0 0 0 0500 1000 0500 1.000 #DIv/0!
EHESR BEAELR—(X HEA2M@E 4 4 0 1 0 0 o0 1 0 0 0 o0 0 1 1 0 0 0250 0250 0.250 0.250 #DIv/0!
EHEF BEH ER—CX JtBI 5 1 [EE 4 4 0 1 0 0 o0 1 0 0 0 0 0 2 0 0 0 0250 0250 0.250 0.250 #DIv/0|
EHER FHERI—HR—1X JtBI 2 [E 4 3 1 0 1 0 0 2 o0 1 0 0 o0 0 1 0 0 0333 0667 0500 1.000 100%
EWREF EER—1X It BI 3 E 3 2 0 0 0O O 0O 0O O O 0 0 O 1 1 0 0 0000 0000 0.333 0.333 #DIV/0!
EHESF IUR— X e 3 3 1 0 1 0 0 2 0 0 0 0 0 00 0 0 0 0333 0667 0333 0.667 #Iv/0
EHEF FRBEER—(X LETR1EE 4 3 0 0 0 O 0 0O 0O 0O 0 0 O 1 1 0 0 0000 0000 0.250 0.250 #DIv/0!
EHESR WER—0X LEFR2EE 3 3 0 0 O0O O 0 O O 0 0 0 O 1 00 o0 1 0.000 0000 0.000 0.000 #DIv/0|
EHEF BERAEL—(X SEFRERB 3 3 0 1 1 0 0 3 0 0 o0 0 O 0 0 0 0 0.667 1000 0.667 1.000 #DIv/0!
EHESR EBUNLLZT ARAH 21 EE 3 3 0 2 0 0O 0 2 0 0 0 0 O 0 1 0 0 0667 0667 0.667 0.667 #DIvV/0!
| RAEH S5 35 32 3 6 3 1 0 0 1 00 0 0 3 6 5 0 1 0313 0.371
EEX3 BT R oW ae IEIT 3] ARH BNH FA AR A2% BT Bk TR — ik BE % JIE EH=E MBE E2E s
LA AR RAR—X HEA1EE 2 2 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1/ 0.000 0.000 0.000 0.000 #DIV/0!
AR BEAER—X HEAAR2[EE 4 3 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0.000 0000 0.250 0.250 #DIV/0
ELAIR BEF,RER—(X JEBSEE 1 [m e 3 2 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0000 0000 0.333 0.333 #DIV/0|
AR FHEREZ—R—AX JLRA s 2 m 3 2 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0.000 0000 0.000 0.000 #DIV/0|
AR EBR— X JtBSEE3m e 3 1 1 0 0 0 0 0 0 0 0 0 0 2 0 1 0 1/ 0.000 0.000 0.667 0.667 #DIv/0!
AR INLUAR—4/X L BA TR E R % 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0000 0.000 0.000 #DIV/0|
EDRIR A1 E F2IEEER—CX LETE1EE 3 1 0 0 0 0 0 0 0 0 0 0 0 2 0 1 0 0 0000 0000 0.667 0.667 #DIV/0|




EDRIR 11A178 WER—X LEFE2EE 3 2 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0.000 0000 0.000 0.000 #DIV/0]
ELAIR 118188 #EAEER—CX LEFEERE 3 1 0 0 0 0 0 0 0 1 0 1 0 1 0 1 0 1/ 0.000 0000 0.500 0.667 100%
EDRIK 3A308 EHUNLL=T ARAH 1 EE; 2 1 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0.000 0000 0.000 0.000 #DIV/0
| EIRIX &5 28 17, 1 0 0 0 0 0 0 1 0 4 0 7 4 4 0 3 0000 0.292
ETA iR >R F HE RS FIB B ] 2817 053] ARH BAM o RS ARk BT MGk WRR —I1f G0 newe k| FIE  ENE HMBE EEE snos
HBiRX— 8A12H RIBFRA—(X HEAKR1EE 4 4 0 1 0 0 0 1 0 0 0 0 0 0 0 1 0 0 0250 0250 0.250 0.250 #DIV/0]
HRA— 8A19A BEmER—X A A2EE 2 2 o0 0 0 O0 O 0 O 0 0 O 0 O 1 0 0 0 0000 0000 0.000 0.000 #DIV/0!
HRA— 108148 BEHsRER—1X JtBI 51 [EE 33 2 0 0 0O O 0 0O 0 0 O 1 0 0 2 0 0 0 0000 0000 0000 0000 #DIV/0!
HBiRX— 108218 /MUR—4aX L BA R EE R B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 #DIV/0! #DIv/0! #DIV/0! #DIV/0! #DIV/0!
HRA— 11A118 BFBEEER—X LETR1EE 3 3 0 0O O O O O O O O 0O O O O O 0 0 0000 0000 0.000 0.000 #Iv/0
| #giRKX— &F 12 11 0 1 00 0 1 0 0 0 1 00 0 3 1 00 0091 0.091
ETA iR *HEARF HE RS FIB B BF] 2817 053] ARH BAM F A RS ZEk BT MGk MR —1f G0 newe k| FIE  EE HMBE EEE s
THE 8A128 FMEHRK—1X HAA1EE 2 2 0 1 00 0 o0 1 00 0 o0 o0 o0 o0 o0 1 00 0 0500 0500 0500 0.500 #DIv/0!
AHE 8A19A BEmER—X A A2EE 3 1 0 0 0o O0O O O O 0 O O O 2 0 2 0 0 0000 0000 0667 0667 #DIV/0!
R HE 108208 FHERI—FR—(X JLRa R 2[E 3 3 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0333 0333 0.333  0.333 #DIv/0!
AHE 108208 EiEHR—1X EAEERIEIL 3 3 0 0 0 O O 0O O O O 0O 0 o0 O 1 0 0 0000 0000 0.00 0.000 #DIv/0!
EHE 108218 /Mut—4X JLBI BT AE SRR 2 2 0 0O 0 O O O O O O 0O O O O O 0 0 0000 0000 0.000 0.000 #Iv/0
SHE 11A118 BFEBEEER—X LETR1EE 0 0 o o0 O0 O O 0O O O O 0O 0O 0O 0 0 0 0
AHE 118178 WER—1X LEFR2EE 1 1 0 0 o0 o0 O0 O O 0O O O O O 0 0O 0 0 0000 0000 0000 0000 #DIV/0!
| HHE S5 1412 1 2 0 0 0 2 0 0 0O 0O 0 2 0 4 0 0 0167 0.286
ETA iR >R F HE TER FIB B ] 2817 354 ARH BAM F o RS ZEk BT MGk WRE —1f G0 newe k| FIE  EHE HMBE EEE suos
SRR 108208 FHERZ—HK—CX JER9ER 2@ &, 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| #DIV/0! #DIv/0! #DIV/Q! #DIV/0! #DIV/0)
Ei N 108208 EER—CX JER9ER 3@ EL 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| #DIV/0! #DIv/0! #DIV/Q! #DIV/0! #DIV/0)
AR 108218 /Mut—4X JLBE BT AE R A 1 1 0 o0 1 0 0 2 1 0 0 0 0 0 0O 1 0O 0 1.000 2000 1.000 2.000 #DIV/0!
ARk 118178 HER—aX £EFE20E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 #DIV/0! #DIv/0! #DIV/0! #DIV/0! #DIV/0!
| @At SFf 1 4 0 o 1 0o o 2 1 0 0 o0 o0 o o 1 0 0 1000 1.000
EER i BT 2a TS 313 fam ERTT 2811 3BT ABH BNH I ;A #ek BT BIK Wk =l JBE nwee % JJE  RN® HBE ESE s
Az 8A12H RMEHRA—AX E=ESICT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| #DIV/0! #DIv/0! #DIV/0Q!  #DIV/0! #DIV/0)
Az B 108208 FHERZ—HK—(X JER9ER 2@ & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| #DIV/0! #DIv/0! #DIV/Q! #DIV/0! #DIV/0)
SREER 108218 /Mur—4X JLBI BT SRR 1 0 0 0 0O 0 O 0 o0 0 O 1 00 0 0 0 0 0 #DIV/0! #DIv/0! #DIV/0! 0.000  #DIV/0!
AREE 118178 HER—aX £ EFE20E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 #DIV/0! #DIv/0! #DIV/0! #DIV/0! #DIV/0!
| tRAE &5 1 0 0 o0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 #NO #DIV/0!
FEXS EH HEAEF R TER T B m BT 251] 351] AR BB FI A AE 22k B BIR URE — ik BE nwnE k| FTE  BiE HBE EEXR awww
SulifE s 8A12H RIEPRAR—X HEA1EE 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0.000 0.000 0.000 #DIv/0!
| hilifest S 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0000 0.000
ETA iR *HEARF HE RS FIB Bl ] 2817 054 ARN BN o RS ZEk BT MGk WRE —1f G0 nuwe k| FIE  EE HMBE EEE suos
HFEA 8A12H RIEPRAR—CX HEA1EE 3 2 0 1 0 0 0 1 0 0 0 1 0 0 1 1 0 0 0500 0500 0.500 0.333 #DIv/0!
HFEA 8A19H BEBER—X HEA2@E 1 1 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0.00 0000 0.000 0.000 #DIv/0!
HFEA 108148 BAHsER—(X JLR9ER 1 @& 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| #DIV/0! #DIv/0! #DIV/Q! #DIV/0! #DIV/0)
HPEA 108208 EER—0X Jt B9 EE3m e 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0000 0.000 0.000 #DIv/0!
HPEA 108218 /MUR—X JERI R R R 0 0 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0| #DIV/0! #DIv/0! #DIV/Q! #DIV/0! 100%
HPEA A1 E F2IEEER—CX LEFE1EE 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.00 0000 0.000 0.000 #DIv/0!
HpEA 38308 EBUMLLZT RAY R EE 2 1 1 1 0 0 o0 1 1 1 0 0 o0 1 0 1 0 0 1.000 1000 1.000 1500 100%
| HAhEA 85 8 6 2 2 0 0 0 2 1 2 0 1 0 1 2 2 0 0 0333 0.429




EEXS

g8 |

HE®E

EEE

EH WEAEF HE TR 15 B BI] 2511 081 20 BB T m RS 1B e # TE  EiE ZBHE
ZRiEE 8A12H [ATEHRAR— HEA1EE 0 0 0 0 o0 0 00 o0 0 #DIV/0! |#D1v/0! #DIV/0! |#DIV/0!] #DIV/0!
ERiEE 8A19H BEAEAR—X HEAR2M@E 4 3 0 0 o0 0 0 1 0 0.000 0.000 0.250 @ 0.250 #DIV/0!
EREE 38308 EFUMLLZT ARAH 21 EE 1 0 0 o0 0 0 o0 0 0.000 0.000  0.000 @ 0.000  #DIV/0!

| ZEREE SF 5 00 o0 0 0 0.000 0.200
RS TR 58 BT 2847 384T £847 8418 T4 RS iR RS newE A% R ORiTE HEBE EEE s

F—LA&H 320 252 4 5 0 13 0.202 0.323

R YR HITE R HE . _ _ _ _

EF4H EH WA T =& TS ITH B BT 28173847 424 2% TS BE 2% BT BR =ik BE newe kT TE ORITR HBE #EEE zzos
FREH 3A308 {EHUNLL =T ARAH A1 EE; 4 4 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0.250 0.250 | 0.250 @ 0.250  #DIV/0]
SHEAN 3A308 EHUNLL=T ARAH 1 EE; 4 2 0 0 0 0 1 1 0 1 0 0 2 0 2 0 0 0500 0500 0.750 | 0.750 0%
EAEHF 38308 EBYMLLZT ARAH 21 EE 3. 3 0 0 0 0 2 0 0O 0 0 0 0 O 1 0 0 0667 0667 0.667 0.667 #DIvV/0!
Ak 38308 EBYMLLZT ARAH 21 EE 3. 3 0 0 0 0O 0 O O o0 ©0 O0 0 O 1 0 1 0.000 0000 0.00 0.000 #Iv/0|
A = 41 3A308 {EHUNLL=T ARAH 1 EE; 3 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.000 0.000 0.000 0.000 #DIV/0|
MESE; ] 3A30H #HEHVMLL=T R R B8, 3 2 1 0 0 0 0 0 0 0 0 0 1 1 0 0 0/ 0.000 0000 0.333 0.333 #DIV/0|
¥E O & 38308 EFUMLLZT ARAH 21 EE 3 3 1 0 1 0 3 1 0 0 0 o0 0 1 00 0 0 0333 1000 0333 1.000 #DIV/0!
HPEA 3A308 EBYMLLZT ARAH 21 EE 2 1 1 0 0 o0 1 1 1 0 0 o0 1 0 1 0 0 1.000 1000 1.000 1500 100%
B 3A308 EFUMLLZT ARAH 21 EE 1 1 0 0 0 0 o0 0 O0 0 o0 o0 O 1 0 0 0 0000 0000 0.000 0.000 #DIV/0!
SRR 38308 EBUMLLZT RAY R EE 0 0 o0 0 0 0 0O 0 0O 0 0 0 0 0 0 0 0 #DIV/0! #DIv/0! #DIV/0! #DIV/O! #DIV/0]
EDRIR 3A30H #HHVMLL=T AR R B8 2 1 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0.000 0000 0.000 0.000 #DIV/0
JIR—X 38308 EBYNLL =T ARAH R EE 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 #DIV/0! #Dlv/0l 1,000  1.000 #DIV/0!

2t 29 23 3 0 1 o0 8 3 1 1 1.0 5 4 5 0 1 0261 0.393




